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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['setVI ETcl’, 'setVl fgRec', 'setVI_VN', ’'slISetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0
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P3-1

BfiE) | BRI (D) | EHE (EH/R) | XK R

08:35 234 150. 0 E|  {Ri&e08:35 Bah (RF{EREE)
09:25 234 150.0 5| 1Ri&e09:25 Bz (REAEES)
10:15 234 150. 0 E BRi%e10:15 Bz CGRAERESE)
11:10 234 150.0 S| Rige11:10 Bah (RAEESR)
12:00 234 150.0 =l RRiB0@12:00 Bz (REAEEE)
12:50 234 150.0 | 1Rike12:50 B (KAL)
13:35 234 150.0 =l {Rige13:35 B3 (REAEDSE)
14:35 234 150.0 = RRiB014:35 B (RFAEESE)
15:50 234 150.0 =l RRiB015:50 Bz (REAEEE)
21t 2106.0 (9)%) 1350.0 3203 KEC: 2080.0, PH: 5.8

FEREHEBR 2 STEEART (151

.0

: 117.0), AIREHT—R%S X5

EORGEBIRTC (234) 5748 (300. 0) A FF, AIREH T % @R #EiRS %2 XiER

BRIASERRERE117.0 ml.

large discrepency for begining water status (50:288.0), set to 50 ml.

FE R 13t Bl RECEHE Bk .

REXEMEC (2595.0) Si&EEC (2000.0) RMERK, HHRE
[E;&REC 6240.0 K5, EiNF{KECAR&M%ER
F[EKECE (2595.0 vs 6240.0) i35

RER B HEREC/PHEERE, A

PN
BET

MEAR LR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=35 (2025-05-03)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
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P3-1

Bfig) | JEBATE (7)) | ERE (AR | KR e

09:30 234 130.0 FA| 1BRi%@09:30 Bz (KAFEREE)
10:30 234 130.0 FA| 1BRi%@10:30 B3h (KRAERSE)
11:40 234 130.0 FA| 1Bi&e11:40 B3 (RAFEREE)
13:20 234 130.0 FA| 1B2i%@13:20 B3h (RAIERSE)
15:10 234 130.0 FH| {Ri%e15:10 Bzl (RAERES)
Bt 1170.0 (5%) 650. 0 323 KEC: 2080.0, PH: 5.9

FEREHEBRE STEEARTF (151.0

BRIASERRERE115. 0 ml.

large discrepency for begining water status (120:291.0), set to 120 ml.

FE R 13t Bl RECEHE Bk .

115.0), AIEERT—@E XA H5
EOREBIRTC (234) 574 (265. 0) A FF, AIREH T 5% @R #EiRS %2 XiER

FERZEBIEC (2700.0) 5i&TEEC (2000.0) RERKA, BHE
[E;&REC 7368.0 K&, EiNF{KECAR & M%E R

#[EKECE (2700.0 vs 7368.0) T3
RE R B3 HEREC/PHIE Bhok, TIRERS

MEAR LR TR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=34 (2025-05-02)

_____________________________________________________________________________________ - 1500
VI, VBB®RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
100 +
820 40 - 1000
604 643
50 480 pasof | oo,
0 Warning: lcol [FVI',| "FVO’'] missing I0
0 + -0
( v — Mg p30
150 4 FRV maxM
100 A | | | | - 25 W,
I =
50
- 20
"o I I
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=5.9 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 4 Bylnit @D3] 02:43: ET=680 Fg=520.0 Ro=22.0 ?1000
1
200 1 : &—&—9 |5
1
: L 4 4 L ® L 4 4 L ® o - 500
100 4 !
: —— - 250
) o—0—10—0— \/I
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1
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P S \N
0 i WN———— == == PN r-N p 0
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1
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200 4 : e e o
- 500
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- 250
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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P3-1

BfiE) | ESBIETK (D) | EME (EH/ER) | XK R

08:55 234 120.0 | =| 1Ri%e08:55 Bxh (kAEREE)
09:50 234 120.0 |Z=| 1BRi%@09:50 B3zh (REERESE)
10:55 234 120.0 (& =| 1BRiB@10:55 Bzh (REEREE)
11:55 234 120.0 = RRiB@11:55 B (REAEESE)
12:55 234 120.0 E BRige12:55 Bzl (GRAERESE)
13:45 234 120.0 5| 1Ri%e13:45 B (GREEREE)
14:35 234 120.0 5| {Ri%014:35 B CGRAEERKSE)
15:30 234 120.0 =] BRi%e15:30 B (REAERSE)
2it]1872.0 (8%) 960. 0 328033 %EC: 2080.0, PH: 6.0

HERRHEME STEAERT (193.0 : 144.0), AIgERAF—RE XAH45
LORGEBEETC (300) 5FHA (250. 0) N FF, TFIAEH T % 1@ [E)#EiRS % XERT
BRIASERRERE144. 0 ml.

BE X i# B ECE 1R k.

FEREBEC (2757.0) Hi&EEC (2000.0) RERKX, BHRE

[O&REC 8496.0 K5, EiMF{RKECAR & MRER

B [ERECE (2757. 0 vs 8496.0) i1

REXREBL I HEREC/PHERR K, AIREZINIEER K



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=33 (2025-05-01)
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m=820, FV0=0 m=915, FV0=0 m=1055, FV0=0 m=1060, FV0=0
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